Qo rToNS => Chaprer 4 - Chapter Test (WorrBooK)
MuLTIPLE CHOTCE
L. thc’n of the Po\lowmﬁ cquations 1S true ?

@ sin 60° = sin 120° C. sin 45° = —sin 135°
B. sin 80° = —sin 80° D. all of these

2. Calculate +an 15° +a four decimal places.
Predict another expression t+hat equals tan18:

A. —4.7046; tan 102° C. 4.7046; —tan 78°
4.7{}46; —tan 102° D. none of these



3 Which law or combination of laws would you
use fo determine the measure of X Iy
Fhes er'cnjg\e, 2

18 cm
A. the cosine law, once 14 em : :

B. the sine law, twice
@ both the sine law and the cosine law

D. neither the sine law nor the cosine law

4. Determine the \f:nglrh of %, To +he nearest
Mmeter.

- Bm e "E = 71_3___,
= SIN3H°®  Sinlige
1n8° > X SinHgs= 15 Sin34°
Sy H8° Sin 118°

X=38.2mMm or 8m

A. 118 m C. Ilm

B. 15m (®)8m



6. ITn ARST)«H{% 29 5 =84 m ?cmd +=&.8m.

Which statement (s true for this se+
of measurements ?

A. This is an S84 situation; no triangle is possible.
B. ‘This is an SSA situation; only one triangle is possible.
C. This is an S54 situation; two triangles are possible.

: . !
@This is not an SSA situation; only one triangle is possible. ¥ THUSS! ﬁg "

1. Which would you use. +o
determine +he” lengthof X fe

A. the primary trigonometric ratios

B. the sine law
C. the cosine law

@Nonc of the above; x cannot be determined.



B. Determine Hhe measure of %,
+o +he nearest Qle,Srea

24m

SinX. = sin M

AN 12
AF-sSin X = d4 Sin 4’
5 1%

Sin X = O. 322&;
x = Sin' (0.3226)
N = l9*

A. 10° C. 11°
19° D. None of these;

x cannot be determined.




9. Determine the lcr}SJrh of X, To thenearest tenth

of a centimeter:

K= () (12)% 2(14)(12)cos52
16+ (44-96(0.6157)
60 -59.1072
00.892.8
VIOO.$92%
0.0 cm

g

>
x 2
2
x
X

| | ]

_%X = 6.8
Sinlid®  Sin42)’
XS = 6.8SinlI3°

SHra T Sin42y
xX=9Yem -



10. Determine Hhe measure of (93 +0 +he nearest

C_‘!G?_SK‘EE .

45cm

6

E_;{]

cosQ =(45)%(3.6)-(31)*

24 5)(3.6)
cos©®©=2025+129¢ ~-13.69
32.4
CosC= [952
32 .8

Cos® = 0.6025
O = cos~ ' (0.6025)
Q= 53°



. Determine +he |enath of % to+he nearest

tenth of a centime er and the measure
of & +o +he nearest d Sgree.

F =12 0)*+(154)=2(12.0()5.4)Cosc0
A= NN+ 53716 -369.6(0.3)
120 cm *[4.0cm = 3816—184.%

196 .36
J 196.36

IN.O cm

THRLL

X
x=4.0 cm 6=4%° ¢
xX

Sin®. = sSinGO?

2.0 4.0
Hosin®=12.0Snc0°
14 4.0

SIn® = O.T7423
Q= sin'(071423)
Q= 48°



12. Tr AABC, <A=47% a=3.5cm, and b=5.0cm.
Determine ” +he number of +riangles (Z,Ct*o)onez,
or two) that are possib[e.'l)mw a di'CtEjTQI'T‘L +o
Support Jour answer-

Since <A IS acute and 0<b, L need to
Check “the height "h"

= }‘L= bsinA
\'L=6-O«S\'ﬁ‘-i7°
h= 3. 7cm

*

a<h, therefore ng frianale is possible.
< T

Diagram -
gra

b=5.0cm




13. A mass s suspended on a length of a cord
The ends of the cord are ng-ochad e
t+he ceiling 1.4 m apart. TThe angles
formed by Ythe ceiling and +h cord
Are 26° and 32°% Detrctmine the length
of the cord , +o the nearest tenth

G ™Mmeter.
.4 m X = 1LY
26° 327 Sin32° Sin122°
% 222 Xsin izt = | 4 sSind2°
Szt (Sin 1222.°
t‘-‘lc.ss x - D‘q m
o = 1\ Total l\g_r~.8+h
SiNnws’ Sin 122° of Cor
Sipd22° = |.M Sinddg®
Stz AR el e e OY9mM+0.7m

BT-O-"Im = [.mM.
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